‘De Mazenod College - Kapdana =~ = [S.c™3 . 20(F
G.C.E. (A/L) Examination 2019 .

3" Term Test — July 2019 __

T Economics 1 ' (2 hours)

5F

o Select the most appropriate answer

1} Following statements related to Droducuon resources of an economy are gwen to you. The most
accurate statements is,

1

i

alan

Cotha ds Lo

An economy possesses a constant resource endowment

One of the main characteristics of economic resources is that they do not entail an
opportunity cost

- Sometimes, economic resources are also supplied unlimitedly at zero price.

Economic resources compromise both property resources and human resources.

- Supply of economic resources is comparatively elastic. G )

2) Best definition for the difference between renewable and non renewable resources is,

1

' Renewable resources get depreciated with the use but the non renswable resources
do not.

Non renewable resources are scarce when compared fo renewable resources.

Non renewable resources are non living while renewable resources are living.

There are limdtations related to renewabie rescurces but for non renewsable resources
there are no limits

Cefﬂﬂiaﬁd economics interier e more [of noi renewabls rasourcss than the
renewable resources. Cossismn )

Following is a production possibilities curve related 1o an economy.
I ¥

Agricultural goods
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" The reason for the down ward élope of the curve from left to right is,

ol

. Agricultural output and industrial output is at diminishing productivity

2. Agricultural output and industrial output is at an increasing productivity.

3

Consumers select between agriculture and industrial goods.

4. Resources available is limited.
5. Existing of a constant opportunity cost. S Lt e )
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4) The production possibility of an economy which produces X and Y products is given below.

Y
; rs
10
] SRR ; PPC
"

> ¥

¥ 6 9 10

According to the graph, the consumption point *R’ can be achieved by,

1. Export 2Y and import 3X at point P
2. Export 2Y and import 2Y ai point P
3. Export 2Y and mmport 1X at point Q
4. Export 2Y and impert 2Y at point (} .
5. Not exporting or importing anything at point R Bussains, )
3) Select the incorrect statement out of the foliowing,
1. Price mechanism cos ¢ economy wethodically without any disturbanee.
2. It's vare o see i 2 corpmand economy.
3. ars of the factor market in a froe market suuciure
4. Consumers are the buyers of the commodity markes in free market structure.
5. Wealth of persons affect every time to create income disparities in a market
CCONCNY. : (har )
6) A and B are production substitutes consumer outlay of B decreased when the price of “A’
increased. The price elasticity of demand of ‘B’ ig,
1. Unitary elastic 2. Elastic
3. Inelastic 4, Can be either elastic or inelastic _
5. Perfect elastic : (Taian: )

7) Select the accurate statement out of the following.
i. Elasticity at the point of intersection of two demand curves will be same.
2. Price elasticity of demand of an inferior good can be positive, negative or zero.
3. There is a negative relationship between the consumer surplus ad demand elasticity.
4. Producer revenue will increase when the supply increases of a product with inelastic
! demand.
5. When the demand curve is a rectangular hyperbola the elasticity will be same at
every point on the demand curve. : (e C )
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Social benefits are greater than personal benefits

Social benefits are greater than social cost.

Existing negative externalities in consumption or production
Social cost is lesser than the perusal cost

External cost.is greater than external benefits

33) One of the supply side economic policy s,

i,
2
3
4
5

Decrease of interest rates.
Tncrease of house hold transfers by the house hold
Purchasing of securities by the government form the commercial banks.

. Privatization

Control of inflation by reducing the budget deficit.

34) The income taxes paid by four fiouseholds based on their incomes are given by the following

table.

. Income level (Rs.) A B C D
: 60 000 6 000 4 200 9 000 3 000
i ' 100 000 15 000 7000 12 0060 6 000
il 15G 000 30 000 10 500 | 15000 | 12 000

Ot of the above who pay the taxes in accordance with the concept of equity ?

35) What is meant by 1

1.

IR

B

Lh

s
ALC

2.AD JeR G 5.B.D (

4.C,D

2sh deficit of the government budget ?

3

verall deficit of the government budget

The deficit remaining further after financing the deficit by non expansionary methods.
Overali deficit which excludes loan installment repayment

Budget deficit which is obtained by deducting the foreign aid and grants from the
overall balance.

Budget balance which is remaining after deducting the government loan repayment

from the cutrent account deficit Consmiinns

4 _
36) Following is a PPCs which shows the camera and mobile phone production of China and

Singapore who use same resource quantity.

What is the correct statement accordingly 7

S

Camert

o r

G e
! 5‘?»&“\_‘“ ;><

kS‘ ..... . moblle phones

o

Comparative advantage for both productions is with China.

Nane of the countries receive the comparative advantage of any product .

Singapore receives the comparative advantage of producing camera.

The internal exchange rate within china is 1.33 telephone for 1 unit of camera

If Singapore inters  international trade they should specialize telephone production.

(
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37) The terms of trade of g certain country increased by 20% in a certain year. Import prices of that
year had been increased 6y 120%. What is the eXport price index of that year?
1.--264 2. 144 3.124 4.200 5.240 G

rates. What is the best import and export elasticity combination that will bring benefits in such a

situation?
[ HE Foreign demand Domestic demand
| ¢lasticity for exports | elasticity for imports
1. -0.5 ' -0.3 ' |
LEa el ;Q_Z selheg T ___.____.LQ;S, —
L ] 01 SR o
A -1.0 -0.1 5t
.2, 0.7 -0 >

39) The domestic price of an imported product is Rs. 50, If the product is produced domestically
Rs. 20/- input cost is incurred. If a 30% tariff is imposed on imports, the defective rate of
protecticnism is,

1. 30% 2. 60% 3. 50% 4. 40% 5.15% ( )

40} When the rea] exchange rate declines,

1. Balance of payment become unfavorable

Z. Imports are encouraged

3. Exports are enceuraged i

4. Foreign exehange speculative activities mcrease
<

The nominal exchange rate is definitely under estimated. (e, s }
41) The contribution on import expenditure by the consumer goods, intermediate poods and
investments goods in year 2017 are respecti vely,

1. 18%,60%,22% 2.60% 21% ,21%
3. 60%,18% , 22% : 4.18%,54.5% ,23.2%
5. 21.5%,54.5% ,23.3% ' {

42) Which of the following is considered as 2 debit entry of the current A/C

Exporting tea from Sri Lanka to Iran

Cash received by issuing sovereign bonds

Portfolio investment receipts

Increase of commercial barik assets

BExpenditure made by a group of Sti Lankan sports lovers in south Africa(....... .. )

ALy
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15) What is the correct statement related to the nature of behavior of short run cost curves,

L.

Total fixed cost is depicted by the vertical distance between the averég.e total cost
curve and average variable cost curve.

Marginal cost is given by the slops of the total cost curve.

The slope of the straight line drawn from the origin to any point on the total cost
curve will give the marginal cost

The slope of the straight line drawn from the origin to any point on the total variable
cost curve will give the average fixed cost.

The average fixed cost curve will slope down wards and then slope upwards when the
output is increased. : ( )

.........

16) The short run supply curve of a perfectly competitive firm is,

L.

ih s i D

Positive slop of the total cost curve o the firm

Positive slope of the average total cost curve of the firm

Positive slope of the average variable cost curve of the firm

Marginal cost curve which lies above the minimum average variable cost.

Negative slope of the marginal cost curve. (rmbry )

17} Wmch of the followmg is not a characteristic of a perfectly competitive market 7

L VS R I

LA

_ Existing of a downward S‘;opmg demand curve f,««v"” L

Every firm has a perfectly elastic demand qu*Va?\.
Marginal revenue of each firm equals lo the pii tm #
Beonomic profits in the long term { o ‘

Firm is a price taker. N e ol i )
: Die razenod Colies ,,f

dana

18) When the factor market and the commodity market both fbpera“’t%w@g%ﬁr ect competition, the
equilibrium employment level is decided,

I

2.
3,
4
5

When the total production of the economy is maximized.
When the marginal product and marginal factor cost equals
. When the marginal revenue product equals the marginal factor cost.
When the total revenue equals the total productivity
When the total revenue product equals the ioial factor cost. {oncsnin }

19) Which of the following is not taken into consideration when prepating the national accounts'?

SRS

Fishing in the deep sea by Lakpahan and the group

Production garments by a factory for an export order

Free education given by the government

Mr. Lakimi teaching his litile daughter

Denzil obtaining the service of a servant to look after her four children. Kavuimssn )

20) Some of the national accounting data related to two years of Sri Lanka is given to you. -

Item 2015 2016
Gross domestic product to the market price 10951 695 11 838 975
Gross Domestic . product to the fixed price 8 633 890 9012 026
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Accordingly the economic growth rate of Sri Lanka in 2016.

38% 2.4.4% 3.52%  4.34% Slasglin vair S )

21) National accounting data of a certain country 'are' aé follbws,

Gross domestic expenditure to market price 100 |

Exports 24

Imports 26

Net taxes on goods and services 10

Nit foreign primary income K 1

Capital consumption = +10

Net national income to the basic price is, (million)
. 28 . 19 . 3.81 4.83 5.91 Ceonmnsives }

22)If the people of a certain country spend more than the national income of a certain  year, which
index show this situation?

il Increase of government expenditure

2. Decrease of foreign investment incomes
3. Trade balance takes a negative value

4, Income amount gets contracted

3

Net foreign transfers take a negative value

o~
et

23} What factor affects the private consumption curve to shift to right?

Increase of disposable personal income

Decrease of disposable personal income

Decrease of house hold wealth .

Increasing the house hold lvais.

Iouse holder’s expectations that future prices would increase. v }

24) A stra1ght lined consumpuon function where MPC = 0.82 is given below. What is the
consumption expenditure relevant for ‘B’ ?

O

Edk (_£3>
C
50 000 === !
i E
0 50000 10000  Yd
1. 82000 250000  3.49000 441000  5.33000 (... )
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25) Following figure shows how the consumption curve changed from C; to C due to changes in
savings pattern of a certain economy.

C Y _CZ

Ci

How does the change taken place in the consumption function affects the multiplier and marginal

F - Aty 4 AT e
propensity 1o consuime.

Multiplier MPC
1. Decrease _Increase
2. Increase Decrease
4. Increase Increase
4, Decrease Decrease
i Unchanged Increase

26 Select the

L N

related 10 money,

oo
Momney is not aftvactive as a ziore of value during inflation

In economics, money is not considered as capital

Meoney acts as a medium of exchange when engaging in transactions.
Money substitutes engage in the task as a store of value.

Purchasing nower of money is Xnown as itg real value.

27) What is not held constant, when the quantity theory of monetary is in activation.

1.

Do B

Lh

28) Which of

e

Velocity of circulation of money.

Real product

Money supply

Yelocity of money circulation and number of transactions
Velocity of money circulation and real product.

the following is a contractionary monetary policy of the central Bank ?
Decreasing the statutory reserve ratio

Bank orders of CBSL

Decreasing the central Bank rate

Reducing the standard lencling facility rate.

Selling of securities in the open market

i I
o )
Coe i )
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- 29) A certain commercml banking system maintain dernand deposits worth Rs. 300 million and
reserves worth Rs. 150 million. This banking. System has an excess reserve of Rs. 25 million.

The narrow money supply of the economy is 750 million. What suuatmn will exist if this
system lend the total of excess reserves ?

Statuary Narrow money
reserve ratio supply of the

e economy

1. 20% 1 060

2. 30% 800

3. 10% 1750
| 4. 12% 1250

5. 5% 3250

30} An inflation of demand side will create due to ;

1. Increase of wages as the labour demand increase
Increase of fuel price

Decrease of government expenditure

2
3
4. Incrcﬁasi:g the profits by business companies
5

increase of exchange rates

31} Collective goods means,

1. Goods which are nor: excludable and non rivalry
Z. Goods which are non excludable and rival

3. Goods which are excludable and rival
4. Goods which are supplzed by the - government. of a market economy aiming social

weifare,

5. Goods which are excludable and non rival till the maximum capacity is reached,

32) The following diagram gives a situation of market 1neff iciency related to a certain commodity.

E1 is the market equilibrium ad E; is the social optimum equilibrium what is the reason for the
market inefficiency according to the diagram

P

3 D.M.C.Kandana
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8) The dlagram shows how

ahar%es

a flat rate is maintained for a public transport service of an economy.

B

If the economy decides to supply the service free of charge to all,

surplus will be

1. Decreased by MEP
2. Increased by SPE
3. Increase by OPEQ
4. Increase by OPET
5. Increase by OSEQ

9} The demand and supply curves of a ceriain product are given as Dy, and §
vosition. The lost consumer surplus as the si

i1

P4

j/ ‘_T,/M!q._ S1

Pl

.
B

B

F,
1B

Q

Y

iy

Q. T TWo.ox KM tvavelied

HIML
HEML
IKM
NLM
11J

the size of the consumer

1 at their initial
ply curve shifts from S1 0 S, i3,

18) Following diagram shows how the government plans to purchase the excess supply created under

minimum price policy of the government. The o

government is,

P 4

/8

16 w B be
_ R T Ittt
3 D.M.C.Kandana

Min. price

E.J'!

1
2
3,
4

Rs. 500
Rs.4 000
Rs. 5 0600 |
Rs. 16 000
Rs. 20:000

st econornic welfare due to this intervention of
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1, Social benefits are greater than personal benefits

2 Social benefits are greater than social cost. .

3. Existing negative externalities in consumption or production

4 Social cost is lesser than the perusal cost

5. External cost.is greater than external benefits T )
3) One of the supply side economic policy is.

1. Decrease of interest raies. '

7 Increase of house hold transfers by the house hold

3. Purchasing of securities by the government form the commercial banks.

4. Privatization

5 Control of inflation by reducing the budget deficit. _ {ovsians 3

34) The income taxes paid by four househelds based on their incomes are given by the following
table. et

EES—
| g o OO0
SRR

Out of the above who pay the taxes in accordance with the concept of equity 7
1. AC 2.AD 3.B,C 4.6 5.8,D vy )

et onsh deficit of the government budget ¢

- T | Sa S BN G Do
Overall deficii of the government budget

;

5 F = b

7 The deficit remaining furthet after financing the deficit by non exXpansionary methods.
4. Overalt deficit which excludes loan instaliment repayment

4. Budget deficit which is obtained by deducting the foreign aid and grants from the

overall balance.
5. Budget balance which is remaining after deducting the government loan repayment
from the current account deficit : [ s )

56) Following is a PPCs which shows the camera and mobile phone production of China and
Singapore who use same 1esouree quantity. cameri
o L chdn
| ™ i :
ST
v
;BM“;\“ 5
o N, . mobile phones
What is the correct statement accordingly ? . Bl '

1. Comparative advantage for both productions is with China.

. None of the countries receive the comparative advantage of any product .

3. Singapore receives the comparative advantage of producing camera.

4 The internal exchange rate within china is 1.33 telephone for 1 unit of camera

5. If Singapore inters t international irade they should specialize telephone production.
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37) The terms of trade of a certain country increased by 20% in a certain year. Iraport prices of that
year had been increased 6y 120%. What is the €Xport price index of that year?

1,-264- 2. 144 3.124 4.200 5. 240 R )

v after depreciating the exchange

rates. What is the best import and n that will bring benefits in such a

export elasticity combinatio
situation? -

Foreign demang Domestic demand |
__¢elasticity for exports

elasticity for imports
-0.5 ;

e e __3

il

39) The domestic price of an imported product is Rs,

Rs. 20/- input cost is incurred. If a 30% tariff isi
protectionism is,

50, If the product is produced domesticall b .
mposed on imports, the defective rate of

1. 30% 2. 60% 3. 50% 4. 40% 5.15% (st )
40} When the real exchange rate declines,
1. Balance of payment become unfavorable
2. Imporis are encouraged
3. Exports are encouraged
4. Foreign exchange speculative activities increase
5. The nominal exchange rate is definitely under cstimated. £ e )
41) The contribution on import expenditure by the consumer £00ds, intermediate goods and
mvestments goods in vear 2017 are respectively,
1. 18%, 60% , 20% 2.60% ,21% , 21%
3. 60%,18% , 209% 4.18%, 54.5% , 23.29,
3,.21.8%. 54.5% ,23.3% Bk
42) Which of the following is considered as a debit entry of the current AIC
1. Exporting tea from Sri Lanka to fran
2. Cash received by issuing sovereign bonds
3. Portfolio investment receipts ;
4. Increase of commercial bank assetq
5. Expenditure made by a group of Sri Lankan sports lovers in south Africa.(......... )
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43) X and Y countries produce wheat and clothes, and the follow_ing fable shows the labbur cost
needed by each country; labour hours heeded to produce 1 unit

Product X Y | vihak i€ il OPP”"WW“W co®

Wheat 3 2 2L bot counries [

Clothes 6 8 produuvig  wheak 7
cres?ecﬁvel\i)

I . o uwh of clotes | pounit of cothes
L Y% uniks of clothes | by v ks of clothes
b wat of clofhes

b

Led

"3&3 it of cipihnes ond

clotnes awnd X;umh of Lot

4 . a5 uwhk 0f
- clotvies.

L

6 uwi P of clofhes and g uwmitt %

44) What is meant by nominal effective exchange rate ?
1. Exchange rate against SDR
2. Exchange rate determined by the overall balance of the balance of paymsant

the foreign currency used in international trade.

1onal currepoy uits. 0, 3

s ool A mam characteristic of an SConomic OUrEgsthzandn ¢

i ey
Free trade

i 1

2. Cosmon external tariff system

Factor mobility among countries

Comman economic and fnancial policies

5. Common legal and political policy. Ly ( )

16) Main condition of sustainable development is to maintain three sectors balanced. They are,
' 1. Bconomic, political, environment
Economic, environment, social

{5 R A

Bocial, environment, religion
Environment, econommic, human

Economic, human, political . (e )

47y Out of sustainable development goals, Which of the following is applicable to developed
nations ?
1. Combat HIV AIDS / Malaria
2. Women empowerment, equality
3. creating a global parinership for development
4. Ensuring the sustainable existence of the environment RIS ki
5. Primary education for all { o smsens )
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S

“ettals country consist of 80 million labour forg mdzion working population,

nﬂmployed population 8% . What is the emplcymmt rate and labour force participation rate ?
1. 80% ,75% 2.80%, 80%

3. 80%,90% 4.75% , 80% 5.60% , 80% (i )

49) What is meant by social capital ?
1. Capital owned by the society
2. Special Corpetency gained by a society through education and knowied ge
3. Machinery equipments and building owner by a society.
4. Crgenizations established to achieve common social aimg by the people of that

society
5. Labour force participation rate of g country {iiennnns )
S0} The disirict with lowest and highest poverty in Sti Luake
1. Colombo, Mulativ 2. Colombo, Kilinochchi
3. Colombo, Vavuniya 4. Gampaha, Mulativ
5. Garopaha, Kilinochehi A )

1z B.M.C.Kandana Economicsi  G.C.E. {A/L) Examination 2019 (Term Test - July 2019)
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o  Select at least two question from part A and part B and answer 5 questions altogether.
: Part A
1)
[.  Explain why every economy faces the problem of choice : (2 marks)
[I. Do you say that sustainable development and full employment do not match to happen?
Explain your answer {4 marks)
[Il.  What are economic resources? What do you include m it? (2 marks)
IV.  Explain the constant opportunity cost using a production possibilities curve, _
why does the opportunity cost become constant? ' (4 marks)
V. Assume an economy which produces computer (nonzontal axis) and mobile phones
(vertical axis). Show the following effects on the production possibilities curve.
a) Imposing of economic sanctions by other countries.
b) The society decides to increase the resources allocated for computer production.
; ¢} Emerging an unemployment situation in the computer sector due fo destruction
of capilal resources.
d) Emerging an unemployment situation in the economy due to technological advancement
in both industries.
(8 marks)
2) | | -
I.  Distinguish between a market economy and a mixed economy {4 marks})
II. - How do you explain “seifl interest” in market cconomy el (2 marks)

M.  Tollowing are demand and supply information of a good related to a product sold in a
competitive market.

Price (Rs.) Qd (units) Qs (units)
40 - 40 120

|
a) Calculate the consumer expenditure at the equilibrium. Why does it equal to producer
revenue? (3 marks)
bj The government decides the guaranteed price of this product Rs. 40/=
i, What is the market price when the total output is released to the market?

(1 mark)
ii.  What is the lost economic welfare? : (2 marks)

1 : D.M.C. Kandana 2019 A/L Economics ! (July 2019)



IV.

3)

1L
II.
"IN

4)

IL

M.

Iv.

¢) Now assume that the maximum price of product is market at Rs. 20/= by the government.

Calculate,

1. The maximum black market price (1 mark)

ii.  [fthe black market price does not function, the new consumer surplus.

(2 marks)
(a) When a unit tax is imposed on buyer
i.  Price paid by buyer

1. Price received by seller :

Represent in a suitable diagram (3 marks)

(b) when the negative income effect of a product is not able to cancel off the substitute effect ,

what is the type of product is it (2 marks)
What are the uses of cross price elasticity of demand? (3 marks)
What conditions should be satisfied to create a supply in the market (3 marks)
What is meant by “prices of related goods” as a determinant of demand (2 marks)
Explain with the help of a suitable diagram, how a production subsidy affect :
the social welfare : . (4 marks)
Demand and supply equation of a product in a competilive market are given below
Qd = 100-2p Qs=-40+2p '
a) What is the economic surplus at the equilibrium? (2 marks)
b) The quantity demanded increase by 40 units at each price. '
- What is the economic surplus at the new equilibrium price? (4 marks)
c) Calculate the supply elasticity at the equilibrium {2 marks)

Explain why the econemic profit become negative even though the accounting profit become
positive : - (3 marks)
Explain briefly,

a) Transfer earnings

b} Product differentiation

¢) Barriers to entry : (6 marks)
Explain how the demand for factors of production change from the demand for a consumer good.
: (3 marks)

Explain how a productive firm decides its equilibrium factor employment level. With a suitable

diagram : (4 marks)

DM.C. Kandana 2019 A/L Economics 1l {July 2019}



Calculate

I15.09d -20(9

Ecen ®

Short run information of a perfectly competitive firm is given below

ATC
R MC

PV]('.&.- Y / J
Cosf 3

40 \ MR

35 \ /

15 \k‘«-« by

Quanhty

0 150 200 "r‘ =_1_.' FEragEnene

a) Economic profit
b) Total fixed cost
c) Producer surplus

d) Minimum price expected by the producer.

(4 marks)

Following are some national accounting data related to a hypothetical economy. (Rupees in

million)

Employee compensation

Private consumption

Net exports

Private income account of BOP
Government purchases

Gross capital formation

Changes in stocks

Taxes on good and services
Subsidies on good and services
Secondary income account of BOP
Other taxes less subsidies on production

i. Disposable gross national income
11.Gross operating surplus
i1i.Current account balance of BOP

12,000
40,000
-5,000
- 2,000
25,000
15,000
6,000
3,500
500
4,000
2,000

D.M.C. Kandana

(2 marks)
(2 marks)
(2 marks)
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II.

I11.
V.

Marginal propensity to consume of a certain cconomy is 0.6. The government decides either to
cut off taxes by 500 million or to increase government expenditure by 500 million to face a
recessionary situation. Calculate the pressure on aggregate demand by each of the above actions.

select at least two questions

6)

L.
11
[IL.

V.

VL

7)

1.

(4 marks)
Explain what autonomous expenses are giving examples (4 marks)
Following are few of macro cconomic data of a certain economy.
Private consumption (C) ~ 80+0.8vd
Gross investments (1) = 120
Government purchases (G) = 100
Taxes (T) = 60
Transfers (Tr) . = 20
a) Calculate the equilibrium level of national income (2 marks)
b) What are the total withdrawals at the cquilibrium (2 marks)
¢) What will happen to the equilibrium income level if the government
increases its taxes up to 100 million (2 marks})
Part B
What are the determinants of consolidated broad money supply? (3 marks)
Discuss the behavior of pressure groups of the cost push inflation. (3 marks)
a) What do you mean by inflation expectation? (1 marl;)
b) What is the importance of measuring inflation expectation? (3 marks)

A commereial banking system consist of demand deposits of general
public worth Rs.4000 million. The money supply of the economy is Rs. 5000 million.
Statutory reserve ratio is 20%.
a) What is the amount of loans supplied by the commercial banks? (1 mark)
b) If the gencral public withdraw Rs. 200 million cash from system,
calculate the deposits of the commercial banking system and the new money supply after

all its adjustments. (2 marks)
State the importance of producers’ price index. ' (3 marks)
xplain how the problems of barter systems were removed with the use of money, with reference
to the functions of money (4 marks)
What is meant by government failure? (2 marks)
What is meant by Beyoncé coefficient of tax revenue? What are the reasons for the unfavorable
tax revenue assessment of Sri Lanka? {4 marks)

Some data related to government budget arc given as follows? (Rs.in million)

e Tax revenue 50 000
e Non tax revenuc 10 000
e Total recurrent expenditure 55 000
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e Foreign loans ' _ 1 000

e Foreign grants 2 000

e Domestic non banking sector loans 800

¢ Total capital cxpenditure 8 000

e Net lending 1 560

¢ Expenditure on under provision 500
- Calculate

a) Balance of the current A/C
b) Overall budget deficit
¢) Primary account balance

d) Expan sionary effect . (4 marks)

1V.  What are the economic consequences ; (3 marks)

V. What are meant by “Global externalities” ? (2 marks)
VI Explain using a unit tax with a suitable graph how an external cost is included in market

(3 marks)

08)  lLthe following diagram shows the PPC of A and B countries which produces only X and Y products

x Fmdu
A6b
~ counimy A
30 0;
|
! 4 co!«m;‘“ﬁﬁ B
| : _
| I SR it
6 500 . \/ co Mo f

(a) Justify your answer related to the products that should be specialized by each country

(2 marks)

(b) State the rate of exchange between the two countries in beneficial trade (2 marks)

[T. what are the sources of comparative advantage in international trade (2 marks)
III. what are the sources of advantage of competition - | (3 marks)
IV. what are the instances that the effective rate of protection can be increased (3 marks)
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V. (a)what are the tasks of world trade organization ; (2 marks)

(b) what is the difference between the ‘common market’ and ‘economic and financial
companies’ as two systems of economic integration (2 marks)

V1. (a) state the main characteristics of the export composttion of Sri Lanka (2marks)

(b) what is the difference between appreciation of exchange rates and increasing the exchange
rates (2 marks)

09)
L Explain the following con cepts
a) Economic growth
b) Economic development
¢) Devclopment (5 marks)
I ‘What are the challenges faced by Sri Lanka in attaining a higher sustainable economic
development? (4 marks)
UL, Discuss the trends of human development in Sri Lanka. ' (4 marks)
IV, “There are merits and demerits of Economic growth” Discuss {4 marks)
V.~ What components are included in the “world happiness index” ? (3 marks)
10)
L. What are the basic features of unemployment in Sri Lanka (5 marks)
1. “There is a gradual decrease in the percentage of poor population in Sri Lanka.
a) What are the basic features in poverty of Sri Lanka (5§ marks)
b) What action s can be taken to minimize poverty in Sri Lanka (4 marks)
IIl.  What are the challenges faced by the tourist industry of Sri Lanka (4 marks)
V.  Whatis the importance of disaster management in the context of economic growth of Sri Lanka
{2 marks)
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